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B4 TREDBIODBHILNDKRES TEEFDEEFSENDKRES TRZFENBBOESLNDOKRES TREDHERILNDKRES
5 X 4 BE | Nimh o0 IEEE AORES[ 7 4 THEALDKE | ma NORES X 4 Be | LinpohIEs AORES[ 7 4 ERALONS | B= NOKRES
(m) (m) (kN/m) BB (m) (m) (kN/m) (m) (m) (kN/m) (m) (m) (kN/m)
] 100kN/m%E#B 2% — -~ = —|3mzBz3 — ~ — — — | 100kN/m%EB 2% — — ~ — —|[3mz8BZD — ~ — — —
zhst 1.00 | 000 ~ 477 59.51 | #hist | 0oo ~ ooo| 1.73 8.76 zhust 1.00 | 5.00 ~ 5.00 59.51 | #hs | .00 ~ 500 1.73 8.76
2 100kN/m%E#B 2% — -~ = —|3mzBZB — ~ — — — | 100kN/m%EB 2% — — ~ — —|[3mz8BZ D — ~ — — —
Zzhn st 1.00 | 0.00 ~ 452 56.39 | #hs | 0oo ~ o000l 1.57 7.91 zhust 1.00 | 5.00 ~ 5.00 56.39 | #hds | 5.00 ~ 500 | 1.57 7.91
3 100kN/m%E#B 2% — -~ = —|3mzBZB — ~ — — — | 100kN/m%EB 2% — — ~ — —|[3mz8BZ 5 — ~ — — —
Zzhn st 1.00 | 0.00 ~ 452 56.39 | #hs | 0oo ~ o000l 1.57 7.91 zhust 1.00 | 5.00 ~ 5.00 56.39 | #hds | 5.00 ~ 500 | 1.57 7.91
4 100kN/m%E#B 2% — -~ = —|3mzBZB — ~ — — — | 100kN/mZEB 2% — — ~ — —|[3mzBZ S — ~ — — —
zhst 1.00 1 000 ~ 562 70.24 | Fhs | 000 ~ 000 1.64 896 Zh st 1.00 | .00 ~ 640 7024 | Fhus | 500 ~ 640\ 1.64 826
5 100kN/m%E#B 2% — - ~ = —|3mzBzB — ~ — — — | 100kN/m%EB 2% — — ~ — —|[3mzBZ D — ~ — — —
zhst 1.00 1 000 ~ 562 70.24 | Fhs | 000 ~ 000 1.64 8296 Zh st 1.00 | 5.00 ~ 640 7024 | Fhus | 600 ~ 640\ 1.64 826
g 100kN/m%EBZ%5 | 1.00 ] 000 ~ 0.18| 10263 |3mEBZD - ~ — — — | 100kN/mM%#z2% | 1.00 | 1162 ~ 1213| 102.63 |3mERBZ5D — ~ — — —
zhst 1.00 | 018 ~ 796\ 100.00| Fhs | 0.00 ~ 796| 2.43 12.31 Zh st 1.00 | .00 ~ 1162 100.00| FEhs | 500 ~ 1213 2.43 12.31
7 100kN/mZEBZ%5 | 1.00 | 0.00 ~ 0.54 105.05 |3mEBZ S - ~ — — — | 100kN/m%#8 x5 | 1.00 | 11.30 ~ 1225 105.05 |3mEBZD — ~ — — —
zhst 1.00 10384 ~ 813| 100.00| Fns | 000 ~ 813| 239 12.10 Fhst 1.00 | 56.00 ~ 1130 100.00| Ehst | 500 ~ 1226 2.39 12.10
g 100kN/mZEBZ%5 | 1.00 | 000 ~ 0.4 105.05 |3mEBZ S - ~ — — — | 100kN/m%#8 x5 | 1.00 | 11.30 ~ 1225 105.05 |3mEBZD — ~ — — —
Zhst 1.00 10384 ~ 813| 100.00| Fns | 000 ~ 813| 239 12.10 ZFhst 1.00 | 56.00 ~ 1130 100.00| Enst | 500 ~ 1226 2.39 12.10
9 100kN/m%E#8z%5| 1.00 1000 ~ 109| 11647 |3mE8ZD - ~ — — — | 100kN/mMi%#z2% | 1.00 | 1053 ~ 1389\ 11647 |3mERBZ5D - ~ — — —
Zzhn st 1.00 109 ~ 888 100.00| Ths 000 ~ 888|219 11.09 zh st 1.00 | 500 ~ 1083 100.00| TnAS | 500 ~ 1389| 2.19 11.09
10 100kN/m%zE#82% | 1.00 | 000 ~ 119| 11790 |3m&E8zB| — ~ — — — | 100kN/mi%#2% | 1.00 | 1054 ~ 1422 117.90 |3mERZ5 — ~ — — —
Zzhn st 1.00 119 ~ 897 100.00 | Ths | 000 ~ 897| 221 11.15 zhst 1.00 | 6,00 ~ 1054 100.00| Fhst | 5,00 ~ 1422| 221 11.15
11 100kN/m%zE#82% | 1.00 | 000 ~ 059 10876 |3m&E#8E23B| — ~ — — — | 100kN/mi%E#2% | 1.00 | 11.00 ~ 1294| 10876 |3mERZS — ~ — — —
Zhst 1.00 059 ~ 837 100.00| TnS | 000 ~ 837| 205 10.36 zhst 1.00 | 6,00 ~ 1100 100.00| ZhS | 500 ~ 1294] 205 10.36
12 100kN/m%E#8z%| 1.00 000 ~ 060| 10893 |3mE8BZD - ~ — — — | 100kN/mMi%#z2% | 1.00 | 11.56 ~ 1382| 10893 |3mERBZ5D — ~ — — —
zhst 1.00 | 060 ~ 839 100.00| Zhs | 0.00 ~ 839| 1.99 10.08 zhst 1.00 | 6,00 ~ 1186 100.00| Zhs | 500 ~ 1382| 1.99 10.08
13 100kN/m%E#8z%5| 1.00 1000 ~ 143| 121.70 |3mE8ZD -~ — — — | 100kN/MZE#BZ2 | 1.00 | 1091 ~ 1649 121.70 |3mEHZD - ~ — — —
Zhst 1.00| 1.43 ~ 921 100.00 | #nhst | 000 ~ 921 | 224 11.32 zhst 1.00 | 6,00 ~ 1091 100.00| ZhS | 500 ~ 1649| 224 11.32
14 100kN/m%E#8z%5| 1.00 1000 ~ 139| 121.07 |3mE8ZD -~ — — — | 100kN/MiZE#BZ2 | 1.00 | 1088 ~ 1619 121.07 |3mEHZD - ~ — — —
Zhst 100|139 ~ 917 100.00| hs | 0.00 ~ 9.17| 224 11.34 zhst 1.00 | 6,00 ~ 1088 100.00| Zhs | 500 ~ 1619| 224 11.34
15 100kN/mM%EBZS | 1.00 | 0.00 ~ 141 121.38 |3mEBZ3 - ~ — — — | 100kN/M%#BZ % | 1.00 | 1065 ~ 1561 121.38 |3mERBZ S - ~ — — —
Zhst 1.00 | 141 ~ 919 100.00 | Fhs | 0.00 ~ 9.19| 2.30 11.61 zhst 1.00 | 500 ~ 1065 100.00| Ehs | 500 ~ 1561| 2.50 11.61
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BX3—2 BEWICHERTALEESNSERICET HEE2/2) i i _ REEE | Plrg
SMERTOME | BERES | 08781008 [ E R4 | B [ Friete | i )l ks
- AR D TIRIZlEET 51 i SMERR
B4 TREDBIODBHILNDKRES TEEFDEEFSENDKRES TRZFENBBOESLNDOKRES TREDHBERIENDRES
5 X 4 BE | Nimh o0 IEEE AORES[ 7 4 THEALDKE | ma NORES X 4 Be | LinpohIEs AORES[ 7 4 ERALONS | B= NOKRES
(m) (m) (kN/m) BB (m) (m) (kN/m) (m) (m) (kN/m) (m) (m) (kN/m)
16 100kN/m#E#B 25 — -~ = —|amE8Bz3| — ~ — — — | 100kN/mi%#B %% — — ~ — —|amzE#EZ% — ~ — — —
Zzh st 1.00 | 000 ~ 764 97.91 | #hs 000 ~ 764 | 1.94 9.81 zhust 1.00 | 500 ~ 1192 97.91 | #hst | 500 ~ 1192| 1.94 9.81
17 100kN/m#E#B 25 — -~ = —|amE8Bz3| — ~ — — — | 100kN/mi%#B %% — — ~ — —|amzE#EZ% — ~ — — —
Zzhn st 1.00 | 000 ~ 686 86.77 | #hs | 000 ~ o0o00| 1.57 7.91 zhust 1.00 | 5.00 ~ 960 86.77 | #Fhst | 500 ~ 960 1.57 7.91
18 100kN/m#E#B 25 — -~ = —|amE8Bz3| — ~ — — — | 100kN/mi%#B %% — — ~ — —|amzE#EZ% — ~ — — —
Zzhn st 1.00 | 0.00 ~ 475 59.15 | #hs | 0oo ~ o000l 1.67 8.43 zhust 1.00 | 5.00 ~ 5.00 59.15 | #hs | 5.00 ~ 500 | 1.67 8.43
100kN/m#E#B 2% ~ 3mEEZ5 ~ 100kN/m%E#B %% ~ 3mEHEZS ~
Zh st ~ Zh st ~ Zh s ~ Zh s ~
100kN/m#E#B 2% ~ 3mEEZ5 ~ 100kN/m%E#B % % ~ 3mEHEZS ~
Zh st ~ Zh st ~ Zh s ~ Zh s ~
100kN/m#E#E 25 ~ 3mEEZ5 ~ 100kN/mM%E#B % % ~ 3mEHEZS ~
Zh st ~ Zh st ~ Zh s ~ Zh s ~
100kN/m#E#E 25 ~ 3mEEZ5 ~ 100kN/m%E#B %% ~ 3mEHEZS ~
Zh st ~ Zh st ~ zh s ~ Zzh s ~
100kN/m#E#E 25 ~ 3mEEZ5 ~ 100kN/mM%E#B % % ~ 3mEHEZS ~
Zh st ~ Zh st ~ zh s ~ Zzh s ~
100kN/ Mm% 2% ~ 3mEEZ5 ~ 100kN/mM%E#B % % ~ 3mEHEZS ~
Zh st ~ Zh st ~ zh s ~ Zzh s ~
100kN/ Mm% 2% ~ 3mEEZ5 ~ 100kN/m%E#B % % ~ 3mEHEZS ~
Zh st ~ Zh st ~ zh s ~ Zzh s ~
100kN/m#E#B 2% ~ 3mEEZ5 ~ 100kN/mM%E#B % % ~ 3mEHEZS ~
Zh st ~ Zh st ~ zh s ~ Zzh s ~
100kN/m#E#B 25 ~ 3mEEZ5 ~ 100kN/mM%E#B % % ~ 3mEHEZS ~
Zh st ~ Zh st ~ zh s ~ Zzh s ~
100kN/m#E#B 25 ~ 3mEEZ5 ~ 100kN/mM%E#B % % ~ 3mEHEZS ~
Zh st ~ Zh st ~ zh s ~ zh s ~
100kN/m#E#B 25 ~ 3mEEZ5 ~ 100kN/mM%E#B % % ~ 3mEHEZS ~
Zh st ~ Zh st ~ zh s ~ zh s ~
100kN/m#E#B 2% ~ 3mEEZ5 ~ 100kN/m%E#B % % ~ 3mEHZS ~
Zh st ~ Zh st ~ Zh s ~ Zh s ~




